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Evaluate the following limits:

(3x -1)(4x -2)

lim
L = (x+8)(x-1)
Solution:
Given: (Bx -1)(4x-2)

. 1
Thelimit x—= (x +8)(x—1)
Let us simplify the expression, we get

(3x—1)(4x—2)
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(12x* — 10x + 2)

= lim

lim

x— (X+8)(x—1) x—co (X% + 9x — 8)
12-24 2
= lim
X—s00 9 8
I+~ x
When substituting the valueofx as x — oo andi — 0 then,
12—-0+0 '
B 1
=12

. [(3x—1){4x-2)
o ll_I.Eu (x+8)(x—1)

=12

3x° —4x° +6x—1

lim

3. %—=® 2X° +X° —5x+7
Solution: 3 ?

e g OXT —4XT +6x -1
Given:  |jp

The limit xz—= 2)(3 —xz —S5x+7

Let us simplify the expression, we get

4 6 1
1,3ﬁ—4ﬂ+5x—1 . 3—xtxz 13
im = lim
xvoo 2X3+ X2 —6x+7  xowy 15 7
X x2 xgl
When substituting the valueofx as X — @ and; — 0 then,
3—0+0-0
240-0+0
=3/2
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. 3x*—4x+6x—-1 3
11111 —_— Y ==
F ox—oo 2x3+xT-5u+T 2

. 5x° -6
lim

3. X ||'9_ 4Xﬁ

Solution: 3
e - . 3x" -6

Given: |jmjm = —

Thelimit =—= _{g . 40

Let us simplify the expression, we get

6
~ bx*-6 . e
lIm ——==lim ————
== [(9+4x8) == | 9  4x°
T %6
X6 X
6
X3
= lim %
W— oo
<&+ 4
When substituting the valueofx as x — oo and% — 0 then,
c ;
V3
=5/2
5x%-6

. 3
lim ==
2 K00 (9+4x%) 2

lim X~ +¢cx —x

4, iox
Solution:

iven: - 2
GIVEN!  1im 4fx” +ox —X

The limit x—=x

Let us simplify the expression by rationalizing the numerator, we get

2
— — VXZ+ X+ X
lim /x? +x —x = lim ( )

X2+ x—x
v V24 x4+ x

K—oo K—oo

y (%% +cx —x?%)
= lim
k=0 X2+ X +X
X

= lim
k= X2 + X + X
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By taking ‘x’ as common from both numerator and denominator, we get

. C
= lim

T li+S41
++

. . 1
When substituting the value ofx as X — oo and; — 0 then,
- ;

T1+1
c
2

. C
lim X2+EX—X=E

S X—oo

lim +x + —v/;

5, i—x

Solution:

Given:  |imx+1- \/';

The limit x—=

Let us simplify the expressionby rationalizing the numerator, we get

On rationalizing the numerator we get,

v+ 1+
limvx+1 = 11111 x+1
N - &
(x+1—-x)
= lim —
x=co X + 1+ VX
1
= lim
= W(W+ ».r) )
When substifuting the valueofx as x — o and; — 0 then,
1 :
T
=0
+ 11111 VX+1—4x=
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